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(13.5 э [5;30] == 13.5 э [14;23] ) <= not (13.5 э [5;13]) a1=1

mx=0

ma1 = 0

ma2 = 0

while a1<=100:

  a2=a1+1

  while a2<=100: 

    #print("a1=",a1,"a2=",a2)

    x=1

    flag=1

    while x<=100:

      a=(a1<=x<=a2)

      p=(5<=x<=30)

      q=(14<=x<=23)

      if ((p==q)<=(not(a)))==0:

        flag=0

        #if a1 == 10 and a2 == 29:

          #print(x)

      x+=1

    if flag==1:

      #print(a2-a1)

      if a2-a1>mx:

        mx=a2-a1

        ma1=a1

        ma2=a2

    a2+=1

  a1+=1

print(mx)

print(ma1, ma2)

ma1=ma1-0.9

a=(ma1<=ma1<=ma2)

p=(5<=ma1<=30)

q=(14<=ma1<=23)

if ((p==q)<=(not(a)))==1:

  mx+=1

ma2=ma2+0.9

a=(ma1<=ma2<=ma2)

p=(5<=ma2<=30)

q=(14<=ma2<=23)

if ((p==q)<=(not(a)))==1:

  mx+=1

print(mx)

Ответ: 9


